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Assignment	5:	Modulation	Review
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Music 16C, Spring 2022, due May 12

I. Harmonize the following melody to modulate from i to ?, and back again (%)
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II. Analyze the following excerpts with RN and cadences. Analyze the 
key of the modulation, and indicate how it occurs (pivot, direct, or other).
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Bach, St. Matthew Passion, no. 15
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Mendelssohn, Variations in B-flat Major, op. 83
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Rachmaninoff, Moment Musicale in b minor, op. 16, no. 3

&

3 3

?##

&
##

mf

n

dim.
n p

. .

?##

œœœ
J

œœ
œœœ

œœœ œœœœn
œœœœn œ

Jœœ
œœ œ œ œœb œœ œ œœœ

œœœœ
œœœœ

œœœ
œœœœœ ™™

œœn

œ
j

œ œb œ œ ™ œ
j

œ œ œ œ œ œ
j œ œ

j

œœ
œœœ

œœœ
b œœœœn

œœœœn œ
Jœœ

œœ œ œ œ œœ œœ œœ
œ ™ œ œœœ ™™

™
‰

œœ œœœ

œ œb œ œ ™ œ
j

œ œ œ œ œ
œ
j ‰

œœ
œœ ™™ œœ# œœ̇ œœ

Œ œœ
œœ ™™ œœ# œ̇œ œœ# œœ œœ

Œ œœ
œ œœ œœ

œœ
œ ˙̇

Œ
œœ
œ ˙̇

Œ
œ
œ

˙̇̇̇
˙ œœœ

œœ ™™ œœ œœœœœ œœœœ

˙
˙ œ

œ

˙
˙

2



{

{

{
{

24

24

24

&
#

Sah

Lieblich

ein Knab' ein Röslein stehn, Röslein auf der

Schubert, Heidenröslein

Hei den,-
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War so jung und mor gen- schön,- Lief er schnell es nah zu sehn,
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Sah's mit vie len- Freu den.-
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Rös lein,- Rös lein, Rös lein- rot,
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